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B.A. (Part-I) Examination, 2022

Compulsory
ELEMENTARY COMPUTER APPLICATION
Feifa au=g - 3 =2 | [ stferamam 3iek - 100
Time Allowed : 3 Hours | [ Maximum Marks : 100

Important Instructions
HEwaqul fAaer

Attempt all questions. Each question carries 1 mark. Questions have been set in English. Hindi
translation is being given for the convenience of students. Candidates have to write correct answer
(A) or (B) or (C) or (D) in the space provided against the questions on OMR Answer-Sheet.
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1. Mouse is known as :
(A) Output device
(B) Pointing device
(C) Both (A) and (B)
(D) None of these

2. Abacus is invented by :
(A) India
(B) Microsoft
(C) China
(D) Russia

3. Vacuum tube is used in :
(A) First Generation
(B) Second Generation
(C) Fourth Generation
(D) Fifth Generation

4. PDP-8isa:
(A) Super Computer
(B) Micro Computer
(C) Mainframe Computer
(D) Mini Computer

S. Full form of USB :
(A) Universe Series Bus
(B) Unique Serial Bus
(C) Universal Serial Bus
(D) None of these
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AISY I ST S &

(A) oT=eqe feawd & &9 #
(B) WEfen feamsa & w9 &
(©) (A) 3R (B)Hl

(D) T | = Ta

STAHY hT STfaIshi TR .

(A) HRd
(B) HIEHIETF
(C) =
(D) &9
JRA A T ITART TR T
(A) gorg dig §
(B) et Wigt &
(C) =eft v §
(D) dredl digt H
PDP-8 U ¥ :
(A) gR FFIX
(B) TSI FFAT
(C) HHH FELN
(D) fardt hregee
. TE S H AR F
(A) Tt |t =«
(B) i1 iR o9
(C) Fteda Hifa a9
(D) =T | #Ig T
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10.

What is digitizer tablet ?
(A) Drawing surface
(B) Output device

(C) Pointing device

(D) Storage device
Which of the following is the part of CPU ?
(A) Printer

(B) Scanner

(C) Mouse

(D) ALU

Tiny dots on the screen are called :
(A) Resolution

(B) Electrons

(C) Pixels

(D) None of these
Daisy wheel printer is a :
(A) Non-impact printer
(B) Impact printer

(C) Inkjet printer

(D) Laser printer

1 MB stores :

(A) 1024 character

(B) 1000 GB

(C) 1048576 character

(D) 1024 TB
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10.

fesTerssR aeic FM T ?
(A) TET WHY

(B) smReye feamw
(C) disfen feamd

(D) VRS feamsd
frefafed § & e d@dtyg. w1 e e 2
(&) fi=

(B) &N

(C) wr=®

(D) TTAF,

T W I S 91 B1e-8Ie Sl Huand
% :

(A) Festiem

(B) SR~
(OBEE]

(D) 3T & *IE e

ot e e T &
(A) AH-geeR fhx

(B) zoR fiz

(C) shore fif

(D) TSR

1 THS. TUfed HIT® ¢
(A) 1024 X

(B) 1000 Sfrsit

(C) 1048576 HFRR
(D) 1024 1.5
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11.

12.

13.

14.

ROM is known as :

(A) Secondary memory

(B) Volatile memory

(C) Non-volatile memory
(D) Static memory

VGA is :

(A) Video Graphics Array
(B) Visual Graphics Array
(C) Volatile Array

(D) Video Graphics Adapter
Which programming languages are classified
as high level language ?

(A) C, C++

(B) Assembly language

(C) Basic

(D) COBOL

Spindle is a part of :

(A) CD

(B) bVD

(C) Printer

(D) Hard disk
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11.

12.

13.

14.

) BT ST ST @
ONRESIRER: )

(B) STEARR AERY

(C) Ferht 7eRY

(D) wfew 7ERY
VGA®:

(A) et it T
(B) forsgerer mftrerd W
(C) drieree T

(D) et Mt TS
TR et 9rensti w359 WR ATed &
w9 | oifiehd fran T E ?
(A) C, C++

(B) STErSE Ao

(C) Sfae

(D) wrEA

Spindle fewm % :

(A) =2

(B) SrEtEt =1

(C) Tz =

(D) = fewm =1
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15.

16.

17.

18.

19.

How many bytes are there in one GB ?
(A) 1024

(B) 1000

(C) 1024 MB

(D) le + 9 bytes

What is Linker ?

(A) Device

(B) Software

(C) Program

(D) Inputunit

Antivirus software is a/an :

(A) Application software

(B) System software

(C) Utility software

(D) Virus

Which is the language translator ?
(A) Operating system

(B) Application system software
(C) Compiler

(D) Utility software

Which of the following is not storage

device ?

(A) Tape

(B) Pendrive

(C) Joystick

(D) Hard disk
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15.

16.

17.

18.

19.

T Sft.oft. H fha aeed e ¥ ?
(A) 1024

(B) 1000

(C) 1024 MB

(D) le + 9 bytes

AR T T ?

(A) TR

(B) WA=

(C) =

(D) 379 T

T TR § U .
(A) TATHIE AFaT

(B) faed Giwe=R

(C) Ffeferdt HigeerR

(D) sraE

HITE A ZHAR § ?

(A) sifqRfen faen

(B) Twiteny faeen dideaer

(C) HHETR
(D) Ffeferel HireaR

frafafed § | A T GU80 SYH

e ?

(A) 29

(B) TSRS

(C) irafes

(D) T< fe=h
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20.

21.

22,

23.

24.

8 bit called :

(A) 1 KB

(B) 1 MB

(C) 1GB

(D) Byte

A Process through which we can send data
to the computer called :

(A) Output

(B) Storage

(C) Input

(D) None of these

Cold reboot is also known as :
(A) Hard drive

(B) Warm boot

(C) Hard reboot

(D) All of these

Macintosh operating system developed by :
(A) Microsoft

(B) Apple

(C) IBM

(D) AT and T laboratory
Base of octal number is :

(A) 8

(B) 10

(C) 16

(D) 2
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20.

21.

22,

23.

24.

8 fore seaa & :

(A) TH il

(B) T TS

(C) T it

(D) =g

T Tt uforan s gr et & hreger |
Yt e ST &, el ©
(A) sT3eqe

(B) HI=U

(€) =19

(D) T8 & *IE el

Fiee Ree T ST S ¢
(A) FTE A

(B) o

(©) = fege

(D) A |t

AfRTE SATRfeT faeen a-mn T ¢
(A) FTEHETE g/

(B) T g

(C) SESTTH R

(D) T we & TR gRI
affeee TR T STER ¢

(A) 8
(B) 10
(C) 16
(D) 2
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25. Full form of BCD : 25. BCDHT AW T :

(A) Binary Coded Decimal (A) TERI HIeS SHHA

(B) Basic Code Data (B) df&® @l eI
(C) Begin Coded Design (C) fafm wige fesmea
(D) Big Code Design (D) fom =i fesmed
26. Microsoft windows 386 was introduced in : 26. HEshIETTR faUSl 386 T Y B3 ¢
(A) 1993 (A) 1993
(B) 1987 (B) 1987
(C) 1980 (C) 1980
(D) 2000 (D) 2000
27. Windows operating system is based on : 27. faues i fawy snenfa -
(A) Plateform (A) TIEHH
(B) GUI (B) Sf.7.37E.
(C) Command (C) FHUE
(D) All of these (D) & |t
28. Internet explorer is a : 28. TEGE THIRW T ¢
(A) Web browser (A) 99 TN
(B) Search engine (B) Ud g5
(C) Network (C) =T
(D) None of these (D) 578 | IS Tl
29. Notepadisa: 29. AIEUS UH ¥ :
(A) Screen (A) BB
(B) Text editor (B) &= TfeR
(C) Software (C) HiRaR
(D) Hardware (D) TETR
A-122 (8) BR-79




30.

31.

32.

33.

34.

Undo button available on :
(A) Status bar

(B) Toolbar

(C) Title bar

(D) Quick access menu
All characters are reversed with use of :
(A) Upper case

(B) Lower case

(C) Toggle case

(D) Sentence case
Control + Vis used to :
(A) Copy

(B) Paste

(C) Cut

(D) All of these

Table tamplet available on :
(A) File menu

(B) Insert tab

(C) Edit menu

(D) View menu

Shape tool is used to :

(A) Change shape style
(B) Insert shape

(C) To change shape outline
(D) All of these
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30.

31.

32.

33.

34.

\‘H"I%W SENE2) {Sﬂl%t
(A) VeH IR W

(B) TEER ™

(C) TEEA TN W

(D) forreh W T
& ITAN | [t DT 3 W M@ E
(A) TR &

(B) @R &H

(C) 3ra &4

(D) o= &d

Control + V &1 39T fora ST T :
(A) =TT = fere

(B) T&= = fer

(C) #e =+ fag

(D) a9+t & fag

I T YT &l §
(A) P15 ] A

(B) s 24

(C) Tez#

(D) FLH7

319 Tt T ITANT B S
(A) 39 @RS Fge |
(B) 393 A

(C) 9 STSSmE sige |

(D) & |t
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3S.

36.

37.

38.

39.

Which device is required for internet
connection ?

(A) Mechanical device

(B) Joystick

(C) Modem

(D) NIC card

MAN stands for :

(A) Metro Area Network
(B) Mechanical Array Net
(C) Metropolitan Area Network
(D) None of these

Dannis M. Ritchie invented :
(A) C language

(B) Java

(C) C++

(D) Visual Basic

LCD is a form of :

(A) Keyboard

(B) Mouse

(C) Monitor

(D) CPU

Hammer is used in :

(A) Monitor

(B) Impact printer

(C) Mouse

(D) Non-impact printer
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3S.

36.

37.

38.

39.

geie dARE & fau feg gfm =t

STl Bl © 2

(A) Thfiha feamed

(B) Sirafes

(C) Frem

(D) NIC &1

MAN 1 90 T § :

(A) HSI TRAT 2T

(B) Hafrher ufam w2
(C) e TR Heash
(D) T | =E Ta
e . &= 7 enfasr fon
(A) C Tas

(B) et

(C) C++

(D) fogera =fasw

TAHISt 1 TH F9R

(A) e

(B) #rs®

(C) it

(D) g

TS 1 ST BT ® ¢

(A) AR #

(B) 7R fet &

(C) =4 H

(D) -z fiet
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40. Which one of the following is not part of

41.

42.

43.

computer ?

(A) Printer

(B) Mouse

(C) Keyboard

(D) Flat file

Which of the following store data
permanently ?

(A) ROM

(B) RAM

(C) CPU

(D) Random Access Memory
Which is one of the part of memory ?
(A) Bit

(B) Pit

(C) Keyboard

(D) None of these

Which one of the following is not network
topology ?

(A) Bus

(B) Ring

(C) Star

(D) Analog
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40. TTH { FHITEN FEEX HT WA TE F 2

41.

42.

43.

A) o=z
(B) HrsH
(C) =HrEre

(D) ®IT A

Frfafer & M 21 o1 Tt 9 9 gufed
HIAT T ?

(A) T

(B) ™

(C) Hrdrg

(D) TveH TRE TEE
frefafea § 4 wF J9R1 & feemn ¥ 2
(A) fae

(B) fre

(C) =rare

(D) 3T & *IE el

T | D e st 6§ ?
(A) =9

(B) far

(C) =R

(D) T
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44.

45.

46.

47.

................ is a process through which we
can display information.

(A) Output

(B) Input

(C) Storage

(D) All of these

Human ware stands for :

(A) Operator

(B) Software

(C) Hardware

(D) Device driver

Malicious software is known as :
(A) Badware

(B) Malware

(C) Malicious ware

(D) Illegal ware

Convert octal to binary 25 :
(A) 10101

(B) 0101

(C) 00101

(D) 10101001

A-122
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44.

45.

46.

47.

............... T W ufshan & s a0 gt
= TSR HW B

(A) sTrseqe

(B) ¥T9

(C) ¥R

(D) = 9t

AT T FHEA T

(A) JARI

(B) e

(C) TERR

(D) feamew gr=R

THETYO! WIS’ & €9 § 1 S ¢
(A) dIEII

(B) HeR

(C) Heffyra aer

(D) TN S

25, e eI & IR T ¢

(A) 10101

(B) 0101

(C) 00101

(D) 10101001
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48.

49.

50.

S1.

52.

100101 binary digit is equivalent to :

(A) 264

(B) 654

(C) 454

(D) 100,

25, Hexadecimal is equivalent to :
(A) 100101

(B) 010101

(C) 10010

(D) 000101

Plotter is a :

(A) Output device

(B) Input device

(C) Storage device

(D) None of these

Full form of HTML :

(A) Hyper Text Makeup Language
(B) Hyper Text Markup Language
(C) Higher Text Machine Language
(D) None of these

URL stands for :

(A) Universal Resource Locator
(B) Uniform Resource Locator
(C) Universe Reasoning Line

(D) Unknown Resource Location
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48.

49.

50.

S1.

52.

100101 =TT fefie IR % :

(A) 264
(B) 65,
(C) 45,
(D) 1004

25, THRASHIA SRR & »
(A) 100101

(B) 010101

(C) 10010

(D) 000101
AR TF ¥

(A) sTReye feamsw

(B) gz feamw

(C) VRS fearzw

(D) T | = Ta
HTML &1 g0 M % :

(A) TER IR AH3TT A

(B) TR TR HHSTT oo

(C) TR R= A ot
(D) =T | g T
ST T T 19 ¥
(A) FHaga RE™ denet
(B) AR e ket
(C) Iad qoif e
(D) 3T fa ey
BR-79




53.

54.

SS.

56.

Which one is the part of four main types of
e-commerce ?

(A) B2B

(B) B2C

(C) C2B

(D) All of these

In HTML tag hl is used to :

(A) Largest heading

(B) Smallest heading

(C) Header

(D) Height

How many layers does TCP-IP model has ?
(A) 7

(B) 4

© 5

D) 3

<Br>tagisa:

(A) Paired tag

(B) Single line tag

(C) Singular or empty tag

(D) None of these

A-122
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53.

54.

SS.

56.

freafafed 5 ¥ ®HE e-H19E & & 9K
THER A THT ?
(A) B2B
(B) B2C
(C) C2B
(D) & |t
HTML # h1 37 =T ST 2 € :
(A) @i #fen & foag
(B) ¥R ®fen & fom
(C) TR ferm
(D) @rze & fow
At eTEeht Hise # ot TR Bt € 2
(A) 7
(B) 4
€) 5
D) 3
<Br>3¥
(A) TE &
(B) famet arga 2
(C) THTeR =1 Tt 2
(D) T ¥ ®E &
BR-79



57.

58.

59.

60.

A device operating at the physical layer is
called :

(A) Bride

(B) Router

(C) Repeater

(D) All of these

Which of the following is fastest
communication channel ?

(A) Microwave

(B) Optical fiber

(C) Radiowave

(D) None of these

How many types of list used in HTML ?
(A) 3

(B) 2

(C€) 4

(D) 8

Eathernet uses :

(A) Mesh topology

(B) Ring topology

(C) Bus topology

(D) All of these

A-122
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57.

58.

59.

60.

T fearsd St fRfSehal TR R 1 &t
T

(A) fos

(B) T3

(C) frdiex

(D) |+t

frfafed 5 & HITE Jad as HEfTHIH
ITAT ?

(A) ST

(B) SACIhet HIEN

(C) e

(D) =T | #Ig T

HTML & 39911 81 et gt fohd TR
1 et § 2

(A) 3

B) 2

(©) 4
D) 8

FURAE T LT ©
(A) =91 2drArsit
(B) T Srdrerrsi
(C) = 2rararsit

(D) = 9t
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61.

62.

63.

64.

Term <TD>is used in :

(A) Table tag

(B) Network

(C) Communication

(D) Link

Which protocol is used to manage file
transfer on website ?

(A) FTP

(B) HTTP

(C) SMTP

(D) TCP

Full form of HTTP :

(A) Hyper Text Transfer Protocol
(B) Higher Text Transmit Program
(C) Highest Text Transmit Protocol
(D) None of these

Which one is used to link one page to
another ?

(A) Anchor tag

(B) Image tag

(C) Frame tag

(D) Body tag

A-122
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61.

62.

63.

64.

<TD> T ITANT &I € :

(A) 29

(B) Tea®

(C) F=fem

(D) T

g Wk 1 Y& JadEe § wEd
TFAH I HAS B % T e sman & 2
(A) FTP

(B) HTTP

(C) SMTP

(D) TCP

HTTP HI QM ¥ :

NN N

(A) TER TR IR G

(B) BPR < IFAHE WM

(C) TELR TR IS TEhd

(D) 5T & =3 T
foretferfia & & T a9 F1 g § i B
% foTe foroet yam g g 2

(A) TFT

(B) TASI 7

(C) %9

(D) @t 2
BR-79



6S.

66.

67.

68.

TCP/IP is mainly used for :

(A) File transfer

(B) e-mail

(C) Remote login

(D) All of these

Tablet is a part of :

(A) Mini Computer

(B) Micro Computer

(C) Mainframe Computer

(D) Super Computer

What does the <br> tag add to your
webpage ?

(A) Long break

(B) Paragraph break

(C) Line break

(D) None of these

A web page is located using a :
(A) Universal Record Linking
(B) Uniform Resource Locator
(C) Universal Record Locator

(D) Uniformly Reachable Links

A-122
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65. I/ F1 gEd A
(A) ISET THEHT
(B) ¥-Aa
(C) Ak «ifm
(D) = 9t
66. i feem ©
(A) fordt P
(B) et FPofe
(C) HTHH R
(D) g X
67. SIS H <br> S 1 ST § ?
(A) AfT S
(B) RET® I
(C) o sk

(D) 374 9 FIE &

68. TH A9 U 1 71 1 TN S gl Sl

g
(A) it feple feife
(B) Frfrenre frae efehex
(C) et frehfe e

(D) FHArwEe =

BR-79
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69.

70.

71.

72.

What is Usenet ?
(A) Itis a provider of news
(B) Itis alow cost dial up network

(C) It is used to forward jobs and files

through several hosts
(D) None of these
IRC stands for :
(A) Internet Resource Channel
(B) Internet Rauting Channel
(C) Internet Right Council
(D) Internet Relay Chat
A host on the internet finds another host by
its :
(A) Postal address
(B) IP address
(C) Electronic address
(D) None of these
The first page that you normally view at a
website 1s :
(A) Home page
(B) Master page
(C) First page

(D) None of these

A-122
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69.

70.

71.

72.

oS 1 & 2
(A) I8 FHMERI 1 JewT &

(B) I€ HH T oTell Sl 379 2o ©
(C) THHT TIN FB TGN AR 31X

TRISEH i AR 9@ o fote feman s &
(D) T & &5 Tel

ST TR} 1 Haod © ¢

(A) 3= REa =

(B) 3=t TR <

(C) 3=Xe s Hhua

(D) 3=t i ==

TS T TH e fohEsh 511 g B &l
e T ?

(A) TIeed TSH

(B) omE.dl. ugH

(C) = TEH

(D) T | = Ta

SerTge T g S ol qeH U |

(A) BH IS

(B) HRX TS

(C) wom I

(D) TTH 9 *E &l
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73.

74.

75.

76.

The universal gate is :

(A) NAND gate

(B) OR gate

(C) AND gate

(D) None of these

Physical structure of computer is called :
(A) Software

(B) Hardware

(C) Firmware

(D) All of these

.................... is the process of dividing the

disk into tracks and sector.

(A) Tracking

(B) Formatting

(C) Crashing

(D) Alloting

Convert octal number 425 in Hexadecimal :
(A) 22

(B) 264

(C) 2044

(D) 18

A-122
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73.

74.

75.

76.

et 12 %

(A) FvE 2

(B) 3R 2

(C) T M2

(D) T ¥ ®E &

FT i e TTEAT T el S ©
(A) HFEIR

(B) TEAR

(C) ®HIIR

(D) = 9t

............ fexh & 39 IR Taed # fawifsm
HIA K TR T

AT T 42 Tl THASHTA H FGIT ¢
(A) 22
(B) 26,4
(C) 204
(D) 1346
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77.

78.

79.

80.

81.

10101001, binary no. is equivalent to
decimal :

(A) 129

(B) 169

(C) 179

(D) 229

Base of hexadecimal is :

(A) 16

(B) 8

© 2

(D) 10

A network comprising multiple topology :
(A) Complex

(B) Hybrid

(C) Bus

(D) Star

A topology that involves tokens :

(A) Star

(B) Bus

(C) Ring

(D) Daisy chaining

Generation based on VLSI microprocessor :
(A) st

(B) 2nd

(C) 3rd

(D) 4th

A-122

(20)

77.

78.

79.

80.

81.

10101001, STEHRT 7. SHHA % TR T :
(A) 129

(B) 169

(C) 179

(D) 229

TRATSHIH 1 99 T :

(A) 16

(B) 8

©) 2

(D) 10

e Heaeh eSSl Uk 9 ST Srararst
IS FLA © :

(A) Complex

(B) Hybrid

(C) Bus

(D) Star

T st o S 3 ¥

(A) Star

(B) Bus

(C) Ring

(D) Daisy chaining

AT S VLS HTShIIEER T STHa ¢
(A) 9oH
B) et
(C) T
(D) =4
BR-79



82.

83.

84.

8S.

86.

ULSI stands for :

(A) Ultra Large Integration

(B) Ultra Lower Integration

(C) Ultra level information

(D) Ultra Large Scale Integration

The period of .................
1952-1964.

(A) st
(B) 2nd
(C) 3rd
(D) 4th

generation was

Main memory of computer is :
(A) External

(B) Auxiliary

(C) Both 1 and 4

(D) Internal

Breaking logical memory into blocks of the

same size called as :

(A) Frame

(B) Packets

(C) Segments

(D) Pages

Hard disk drives are considered

storage.

(A) Flash

(B) Non-permanent
(C) Temporary
(D) Non-volatile
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82.

83.

84.
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FI T H&d HART Bl ¢
(A) THRITTA
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(A) %A

(B) WheH

(C) Hmiew

(D) T
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87.

88.

89.

90.

Which of the following is a type of

Microprocessor ?

(A) CISK

(B) RISK

(C) EPIC

(D) All of these

Which of the following technology was used
by Intel to design its first 8 bit
microprocessor ?

(A) NMOS

(B) HMOS

(C) PMOS

(D) TTL

What is the word length of an 8§ bits
microprocessor ?

(A) 8 bits-64 bits

(B) 4 bits-32 bits

(C) 8 bits-16 bits

(D) 8 bits-32 bits

Which of the following is not a
microprocessor ?

(A) Z 8000

(B) Motorola 6809

(C) ZilogZ8

(D) PICIX
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(A) CISK

(B) RISK

(C) EPIC
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(A) NMOS
(B) HMOS

(C) PMOS

(D) TTL
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(A) 8 bits-64 bits

(B) 4 bits-32 bits

(C) 8 bits-16 bits

(D) 8 bits-32 bits

I SR Tal & 7

(A) Z 8000

(B) Motorola 6809

(C) ZilogZ8

(D) PIC1X
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91.

92.

93.

94.

9s.

Which tag is used to insert item in list ?
(A) UL tag

(B) OL tag

(C) Lltag

(D) U tag

<input>isa:

(A) Format tag

(B) An empty tag

(C) All of these

(D) None of these

Copper wire, optical fibre is example of :
(A) Unguided media

(B) Guided media

(C) Microwave

(D) None of these

Which one of the following is not a

transmission medium ?
(A) Coxial cable

(B) Modem

(C) Optical fibre

(D) None of these
Radio waves are :

(A) Single direction
(B) Omnidirectional
(C) Bidirectional

(D) Undirectional
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(A) UL tag

(B) OL tag

(C) Lltag

(D) Utag

<TTIe> TR

(A) ®He &

(B) Tl

(C) 3 =t

(D) T | = Ta
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(B) TzEE Hifg
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(B) HreH

(C) Swd IR

(D) 37 & FIE T&l

(A) Tt STEtERT

(B) S=ERERTA

(C) ESTETRT

(D) ST
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96.

97.

98.

99.

‘JPG’ extension refers usually to what kind
of file ?

(A) System file

(B) Animation/movie file

(C) Word file

(D) Image file

Compact disk hold how many minutes of
music ?

(A) 74 minutes

(B) 56 minutes

(C) 60 minutes

(D) 90 minutes

Which of the following is not part of
Microsoft Office ?

(A) Excel

(B) Word

(C) PowerPoint

(D) Android

Which one is System Software ?

(A) Word Processing

(B) Program Language

(C) Graphics

(D) Browser

100. Which of the following is not computer

language ?
(A) Ct+
(B) Java
(C) Unix
(D) None of these
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(A) C++
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